Ratio to ATLAS

1/N,, dN,/dN_./dn do

o
©

o
o)

o
\l

o
o

o
&

0.4

0.3

0.2

0.1

[EEY

0.5

13000 GeV pp
S

IZ+Je|:t

[ I T I I I T | T I T I T I ]
:_ <pT> (ATLAS UE in Z production) _:
- m ATLAS ]
~ --8- Pythia 6.428 391 .
— - - Pythia 6.428 393 ]
—— ---e-- Pythia 6.428 394 i
~ - v-- Pythia 6.428 395 7]
- o C._ -
— 2T %i\ = ]
— ¥.~§ -‘5.—-5?_\&\ ]
- a,.{ -
- / -
= .ﬁ' B
~ s 1B 7]
— w5 ? ]
- g-* 7
:—-4"! — e T
Ef E
P T E
Y P EREAE -
Lo, PRI, i Y N S _

Rk R ey
L AE TR ]

3

N, /dn d@

Rivet 3.1.10, = 2.1M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


